L

0000579 00°00519 - 2 - - - Aemjiey wiayuon| T€
00°000°LE 00'000°€€ 2 5 2 5 00000t Aemjiey "4'N| O€
00°00S‘€S 00°00S‘El . = = = 00°000°0T Aemjiey 3'N| 62
00°89090S 00'9S8'TIE o00zLL'eL 00'98L'19 00'7S9'6S = z 'STA'N| 8¢

B B i 3 - 5 & puejeden| Lz

£ e = s = = = welozinN| 92
00°000°T2 00'00SST 00°00S'C 00'005'¢ L = 00°00S andiuen| sz

= s = ; 5 3 4 ehejeydan| ¥z
00'090'SET‘T 00°090'SET'C g S = - - enyseieyen| €7
00'SLTZ‘E9S‘T 00'S98'1€S 00°082'¢LE 00°000'SLT 00°09T L€ 00°000'0TT 5 ysepeld eAypen| zz

= = = = = . - ejesad| 12

g = d 3 - - = S| 02
00°'7T9°£SST 00'000°000'T 00'7S9'ETT 00'S¥L'C9 00'S06°62¢ 00'0TETST = eyelewse)| 61
00°005°L6 00'000°5S 00°00SCT 00°00SCT 00°00SCT e 00°000°s pueyieyr| 81

= 7 = 3 % = - AIYsey| 1 nwiwer| /T
00°005£8T 00'005°£8T 2 - = - - ysopeld [eysewiH| 91
00'000699°C 00'000'599°C : : - : 7 euedtey| ST
00°000'STS F 00°000'SCT 00°000SZT 00'000°SZT 00°000'00T 00°000°0% jeselno| pT
00°000'95t 00°000°0%¢ 00'000'SZT 00°000°T8 = E 00'000°0T B09| €1
00°005°0Z 00°005°0Z = = = - - Aemjiey |enuad isel| 1
00°000°8S 000008 00°00S8CT 00°005CT 00005°¢T 00°00S°CT = Aemjiey iseod ise3| IT
00°005'99 00°0059T 0000052 00°000°S¢ - = > Aemiey uiaise3| 0T

T E = = = = S Iyled| 6
00°000°0Z1 00°000°0Z¥ 5 5 = = = ysedsnieyd| 8

3 = = - = s Z "L'N yJedipueydf £
00'000'69 00°000°TT 00'0057T 00'005CT 00'0052T 00°00S°CT 00°000°8 Aemjiey |eauad| 9
00°00525¢ 00'000'STZ 00°00S°LE Z L 2 - segg| s
00°545'v8 00°000°S€ 0002’8 00°00SZT 00'€SL'TT 00°Z06'TT 00°000°S wessy|
00°06992 00°069°T 00°000°SC = g s - ysepeid |eyseuniy| €
00°000‘€l 00°000°0T 000052 00005, 00°00S°.L 00°00S°L 00000°€ JBqODIN 13 UBLUEpUY| £
00'005°28¢ 00005282 = - 2 - - ysapeld eiypuy| T

6102 8102 L10Z 9T0¢ ST0Z Y10¢ :

Suipueising jero) | Aeq Bel4 sulede Aeq 3el4 1suiede Aeq Se|q isuiede Aeq dej4 ysuiede Aeq de|4 sujede Aeq dejd ysujede SILVLS mM_

Bulpuelising

3uipueising

Suipueisingp

Buipueisinp

duipuelsing

Buipuelsing

*0Z0Z°S0°TE 0adn Suipueising uonajjod Aeq el jo sjielaqg

"IH13a MIN‘SHILIYNDAVYIH TYNOILYN ‘S3AIND B SLNODS LVYYHE JHL




W %

LS ‘0sg 23115 Wpp|Is 3surede Suimoys Suipueisino jeyl os ‘DHN 1B PaAIDIaL 10U ‘9115 WnpyIs Aq pauinias Sej4 ayl sy ~1330N
00'TE8909°6T | 00°968°88Z'VT | 00°965°69ST 00°89T°L0T‘T 00°0£0°€0S°T 00°T#9'988 00°005'1S2 1V10L
00°000°S : = 3 00°000'S 2 : Hemny| |0oyds “pujf 19
00°005°CT = . = 0000521 G - legng |0oyas “puif 09
00°000°0€ 2 = 3 0000052 00°000'S - 1e3e7 BYOQ [00YDS "pUl| 65
00°005'LE : E = 00°000'SZ 00°00S°ZT < elqely Ipneg |ooyds "pul| 85
00°005°99 2 3 2 00°000°0S 00°00S'ZT 00000t UBWQ [00Y2S “pujf /5
00°00L'1€ 00°00L'T€E : = > 2 s an|d YIno, 1eiwer| gg
00°029°C E 00°00S'C 00071 = - = nig '3 ueweq| S
00°000°S . = 00°000°S = < daspeAysyel| ¥S
0070001 000059 000052 00°005C 00°005'C = = Il2ney JedeN elepeq| €9
00°0£9°C€ 00°0/9CE = g = - = Iy|og man ‘v1so| 2§
00°00S‘LE 00°000°S? 0000571 2 = = = Aemjiey [ennus) 1sapn| TS
00°005'SZT 00'000°€T 00°00S°£E 00°00S°LE 00°00G'L€ = = Aem|iey uiisap| 0S
0070058 00°00578 : 2 - = ~ |eduag 1sapn| 6
2 = 2 = g Z 5 pueipjeienn| 8y
00°'TZS'0€2'T 00'005'798 00°000'SZT 00°£T5'95 00°855'LS 00°966'8L 00°000'0S ysapeid 1enn| Ly
- - - - - - - esndu]| ot
00°005°ZVT 00°000°0TT 00°00S°L 00°00S'L 00°00SZT 00°000°S = euedue|a]| Gt
00°€€6°986°T 00°'000°00€'T 00°005'£8T 00°00S°£8T 00°005°£8T 00 EEP PET = npeN [iwel| ¢
- - - - - - - Aemjiey uiayinos| €t
00°56682 0056682 2 z 2 S & wppis| ¢
00°000'99 00°005'8Z 00°00SCT 00°00S°ZT 00°00SCT - = Aemjiey |esyua)d ‘35| T
00°00S’LP 00°00S'LT 2 5 00°00SCT 00°005°ZT 00°000'S Aem|iey 3 °S| OF
00°000°SE 00°000°0T 00°00SCT - - 00°00SCT = Aemjiey ‘M S| 6€
00700021 00°000°LT 00°000'S¢ 00°000'5Z 00'000'SZ 00°000'SZ 00°000'0T Aemjiey "D S| 8€
00°095'€2Z'€E 00°095°€0Z’¢E = * < = 00°'000'02 ueyiseley| /¢
00°000°0T0‘T 00°000°S8T 00°005'£8T 00°005°28T 00°005£8T 00°005'L8T 00°000°S/ qefund| 9¢
00°00S°€C 00°00STT 00°000°S G = 00°000°S 00°000°¢ Aayyonpnd| G
& . . = s = = BYSIPO| €
00°00S'€T 00°00SET - : 3 = - Aemjiey u121sa M\ YLION| €€ |
00°005°6 00°005'6 2 z = = = Aem|iey |eiaiua) YON| €




